AR EITHARSEIFIE

General Hand

TMHL Series

v
=
=
<<
=
=)
L
=
a

How To Order (B 8 KR 5%

TMHL 10 - 20 B - RS2
. — n

Bore Stroke Claw Type Auto Switch

[k 1718 Va5 FEMEFF &

Please refertothe  Nil(%) Standard (k4 2Y) Nil(z%) | None (Tt FF %)

table 15 & EITRE B [Side tapped mounting(NAMER#HR)  RS1 |Switch 1EAGR§MEF X1
RS2 |Switch 2EA(B M F %22

Specification ( ¥ 1% )

10,16,20,25,32,40

Type(® S) TMHL10 TMHL16 TMHL20 TMHL25 TMHL32 TMHL40
Bore (I &) 10 16 20 25 32 40
Fluid (F7E44) Ain=S

Action(zh{ERZ ) Double Acting( zh)

Pressure Range (£ i JE /35E ) 0.15~0.7Mpa

Amb.Temp (58 B IAB ) 0~+60°C(RFLE)

Max. Operation Frequency(& & Z{EMZE) 40 40 40 ‘ 40 ‘ 20 20
Lubrication(Gi#ig) Lubrication Free(B {445 )

Length Of Max. Gripping Point( & VB & )(L) 40 60 80 90 100 100
Lever Open/ Close Stroke (3 JNF x4TFE)(mm) 20,40, 60 30,60,80 40,80,100 | 50,100,120 | 70,120,160 |100,160,200
Gripping Force (3 71)(F) (Kgf) 1.4 4.5 7.4 13.1 23.2 40
Pipe Size(##& O &) M5 x 0.8P Rc 1/8

Note : L : Length of point , 10, 16, 20, 25=40mm , 32, 40 = 80mm , M : Theoretical gripping Torque , P : Pressure=5 Kgf/cm?
G LMUEESKE, 100 160 200 25=40mm, 32, 40=80mm, M: g H%E, P: A E H1=5Kgf/cm2.

Internal Structure (RERLEH) Storke (T#E3R) (mm)

Bore (I 12) Stroke(T72)

o E””””' 210 20, 40, 60

- - — 16 30, 40, 80

— (T T I5)-- @20 40, 80, 100
Pl il Ll =]

@25 50, 100, 120

. % @32 70, 120, 160

@40 100, 160, 200

Gripping Point(3 # &5)

=t &

b \ s

¥
J-_ 1,,+

Objective L : Gripping position mm
(REFMH) (RFFME)

Please contract us on any small problem and details.
BRI E AR B, EEESAARRKE.

$TETE 1203




NEUMATICS

AR EITHARSEFE

General Hand

TMHL Series

ripping Force Characteristic(3 5 1 43F 1%

TMHL10-20 TMHL10-40 TMHL10-60 TMHL16-30 TMHL16-60 TMHL16-80
[T T T 1 T 1 1 1
; 25 Pressure : Kgfiom * —| Z 25 Pressure : Kgficm? ; 60 \\\6 Pressure : Kgficm? | 260 ~—15 Pressure : Kgffcm? |
g 20— - g 20 : 6 'ﬁ 50 e S ﬁ 50 ~—15
T 5l T 5 oy i 5 g0 i e B —=—1"14
S — T 15 —— © 30 = © 30
o — < — 4 e <]
2 10 [—=< 4] 210 — = 8 B et 3 e 3
2 I e A 2 I ) 227 B 2 2
£ 5 £ 5 £ — | £ — 2
& T & 2 & g
(0] O] o (o]
0 10 20 30 40 50 60 70 0 10 20 30 40 50 60 70 0 20 40 60 80 100 120 0 20 40 60 80 100 120
Length of gripping point(#8#5) L mm Length of gripping point(##5) L mm Length of gripping point(383F ) L mm Length of gripping point(383 &) L mm
TMHL20-40 TMHL20-80 TMHL20-100 TMHL25-50 TMHL25-100 TMHL25-120
T 1 T 1 0 0 \
Z 120 Pressure : Kgficm? | Z 120 Pressure : Kgfiom? | z z | Pressure:Kgficm?
| = & 160 8 7160 1
100 f-==— 6 100 = 6
s b £ 120 2 Bz —
80 —=—— 5 80 [—=——12 -
£ . =i g e 4 £ —1 [ i
s S § oof——o—T 5 of— 3
o 40 — o 40 o =3
£ 2 £ 2 £ afl—— 2 £ 40— 2
&2 & 2 g &
(O] (o] (o] (O]
0 20 40 60 80 100 120 140 0 20 40 60 80 100 120 140 0 40 80 120 160 200 80 120 160 200
Length of gripping point(3B# &) L mm Length of gripping point(383% &) L mm Length of gripping point(383% &) L mm Length of gripping point(fB# &) L mm
TMHL32-70 TMHL32-120 TMHL32-160 TMHL40-100 TMHL40-160 TMHL40-200
T T T T T T
i 300 ] Pressure : Kgficm ? i 300 = Pressure : Kgfiom ? i 500 \Esure:Kchmz e isoo 6 Pressure  Kaflem? ]
6 = 6
& 250 — 5 250 B 400 5 Ra00 5
# ~—— |, 4 —~—15 # — 15 e —2
2 200 = 2 200 Y a1 By l— 4
H 4 H I — g — g —
= 150 = 150 2 — 2 —
s ——1 |3 8 |3 S 200 3 8 200
glr=————e— | 22 2 T2 2 B ——
5% | & =y gl EW[———1
[¢] O] (o] O]
0 40 80 120 160 200 0 40 80 120 160 200 0 50 100 150 200 0 50 100 150 200
Length of gripping point(3E#F£) L mm Length of gripping point(383F ) L mm Length of gripping point(38#F &) L mm Length of gripping point(3T# &) L mm

Finger Type (JN i & 3X)
Standard Type(trERR) Finger Side Gripper(JTC 5 ) H 245 8Y) —

Mounting Type(ElE#!5X)

Top Side Mounting Type(_t ZBEIE ) Side Mounting Type(FMIEER)




AR EITHARSEFE

General Hand

TMHL Series

v
=
=
<<
=
=)
L
=
a

Dimensions(mm)(7ME2 R~ Bl(=

TMHL10 TMHL10-[IB
Finger Side Clamp Type(JTV 5 1l 243 2Y)
©
,,,,,,,,,,, - Q
D e AN W
0
/ =l e 4-M5X0.8P ‘7.9‘ 182 129 | 7
(Cross 8)
2-M5X0.8P dp 6 c rL
M(oglrls_i%g)hole mL } @
& NN { ) 1
= 2 L @ 4 olo
1%} o 7 @ \‘J NN
A on L q
—f— o | b
B ‘ T T
—
39% gp3  2-M5X0.8P dp 8 7| 20 12
|Position hole‘ Mounting hole
i } (B H) 2-M5X0.8P 4-M4X0.7P
O == O Ftiping port Finger mounting hole
I e _ [ ‘/, ,,,,, (HH ST (MAEET)
' — @ O 4@<{ — ;';
S - - _n
& AN\ %
I 4-M4X0.7P dp 6
@35% dp 3 Mounting hole
Position hole 219dp 2 (E=H)
(Efrl)
44
i L Il
‘ 4-M5X0.8P 18.2
2-M5X0.8P dp 6 b (Cross8) ‘ ‘
Mounting hole S | |
e ‘ - @
T - ] | _ _ wn
ity i e T R R
| ; . | : \ \ D= PN B S &
SRS . Q}@ o
o
L i s B el
_ Lo S — L i © ‘ 1
| T | - | D)
© b 2-M5X0.8P o © ~1 f@ D
‘L J P‘iping:port L J
‘ (#HS7L) ‘ 4-M4X0.7P 20
7 Closed(i#) N 7 Mounting hole claw
‘ ‘ (MREE) 34
10 Opened(FF) M 10
Model
@e) A B C D L M N
THML10-2000 52 | 36| 30| 30 100 (80) 76 | 56
TMHL10-400 68 | 52 | 46 | 46 136 (96) M2 | 72
TMHL10-601 86 | 70 | 64 | 64 174 (114) 150 | 90
Weight(E =)
Model(® =) TMHL10-20 TMHL10-40 TMHL10-60
Weight(E 8)kg 0.29 0.35 0.44

$TETE 1205




AR EITHARSEFE

General Hand

TMHL Series

PNEUMATICS

Dimensions(mm)(%MER T EI(ZK))

TMHL16 TMHL16-[]B
Finger Side Clamp Type(JTC 5 il e 8Y)
«©
i S
e
T — 7T /’,@’ *@’g”*’*’* - 55 17
o
Q 4-M6x1P 102 226  16.2 8
2-M5x0.8P dp 7 Cc (Cross 10) ‘ ‘
Moulé\ltingﬁﬁhole Fl ! ‘
(BEM) o7
ol | _ @ @1
3 £] *l@ T gl o~
e N
P MO O
B ‘ 7T7 } : 7T—\7
+0.03 2-M6x1P dp 10
39%dp 3
T Position r?ole‘ Mountigg hole 9 25 15
PN EER 2-M5x0.8P  4-M5x0.8P
a d=<-b M
=) V== ) RRRER
‘ ( \ /] . ( ) ( )
- T | | T 737
,@, — : - ,@,
i 4-M5x0.8P dp 10
@39% dp 3 Mounting hole
Position hole (E= )
(BAL7L) @24 dp 1.5
‘ L 55
| D 4-M6x1P 226

2-M5x0.8P dp 7 |

Mounting hole (Cross 10 )m ‘ ‘
‘(@iﬁﬁ) | ° I I
[ | 'ﬂ;‘ | 1
J 5 R ) Mol s -l f R _| _ _ o
— \@ ‘ P — mg{ ‘ @ G} | "I
| == xS | R o O 1 -G
L N i o
s — I 2 o] -]
- _‘ | T | r . T T
o ; } 2-M5x0.8P } ; ® o B ,/A@ ,@,
- Piping port . °°§ I
T EHA) N ‘
\i ‘ Closed(H#]) N ‘ iJ 4-M5x0.8P 25
Mounting hole claw
13 Opened(F) M 13 (MEBEZET) 43
Model
= A B C D L M N
(BS)
THML16-30 60 | 45 | 26 | 26 128 (98) 98 | 68

TMHL16-601 90 | 75 | 56 | 56 188 (128) 158 | 98
TMHL16-800 | 110 | 95 | 76 | 76 228 (148) 198 | 118

Weight(E£)
Model(®S) |  TMHL16-30 TMHL16-60 TMHL16-80
Weight(E 8 )kg 0.57 0.79 0.94

1.206 NTEETE




AR EITHARSEFIE

General Hand

v
=
=
<<
=
=)
L
=
a

TMHL Series

Dimensions(mm)(%ME R~ BI(ZK))

TMHL20 TMHL20-[1B
Finger Side Clamp Type(JTV 5 1l 243 2Y)

2-M5X0.8P dp 6 c (Cross 10) ‘

Moué]t;i%gﬁﬁh)ole
of | 7@ 1
ol @ I i
K

4-M6X1P 129 28.2 18.4 10
I

>
46
2
s
—-1 -
T 1
[
|
@
LESEREEAEY

44

E

i T

| ‘ ‘
4'803 dp 4 2-M8X1.25P dp 10

Position hole| Mounting hole 12 30 17.5
" } (B & A)
4 j -0- 2-M5X0.8P 4-M6X1P
b g -} Piping port Finger mounting hole
\ / (#HHSTL) (KB EFL)
GH-—-F-1- ©

4-M6X1P dp 10

+0.03

47" dp 4 Mountiﬂg hole
@26 dp 1.5 (EIEH)

Position hole

(B r7l)
i L Il 65
2-M5X0.8P dp 6 o) 4-M6X1P 282
Mounting hole (Cross 10 )‘_ ‘ ‘
‘ (B & ) A | |
[ L1 ! :i} ! Coar S I
[ S N I W O i _ . — A 1 N P A — l_ <
i \@’ | @ e o L @ 6} oo
| | —77‘777—7‘77771 ; Q « —Tf ] 7J‘rf -
A _T__T1- _go- - I S« i [N _ !
et O SR M e==IE o L@
—n |5 : CF e F
5 vl 2-M5X0.8P . N 3 | &
N LJ Piping port u b N 8; /1’3 ®\
‘ (HEHSFL) ‘ |
12.5 ‘ Closed(i#]) N ‘ 12.5 4-M6x_1 P 30
Mounting hole claw
17 Opened(F) M 17 (MEE =) 54
Model
A B (6] D L M N
(BES)
THML20-40 71 58 | 40 40 157 (117) 19 | 79

TMHL20-80 113 | 100 | 82 | 82 239 (159) 201 | 121
TMHL20-1000 133 | 120 | 102 | 102 279 (179) 241 | 141

Weight(E =)
Model(®S) |  TMHL20-40 TMHL20-80 TMHL20-100
Weight(E 8 )kg 10 145 17

$TETE 1207




AR EITHARSEFE

General Hand

TMHL Series

v
=
'_
<
=
=)
wl
=
o

Dimensions(mm)(%MER T EI(ZK))

TMHL25 TMHL25-[1B
Finger Side Clamp Type(JTC 5 il e 8Y)

I i
- = /’,@’ *@ﬂ - 76 27
4-M8X1.25P 12
2-M5X0.8P dp 10 c (Cross 13 )
Mounting hole -
(B ER) - J@
8 & o 33
— |
+0.03 |
53%gp4  2:M10X1.5P dp 15 il s |20
T Position hole| Mou[étm%ilhme
+ i !
yé T (E=H) 2-M5X0.8P  4-M8X1.25P
- 9= 7®7 Piping port

Finger mounting hole

e f ==t (it S 7L) (MAEE)
1 T

&\ 4

! 4-M8X1.25P dp 10

@5'8%dp 4 Mounting hole
Position hole 228 dp 2 E=H)
(EArl)
‘ L ‘ 76
2-M5X0.8P dp 10 P 4-M8X1.25P
Mounting hole (Cross 13 )
‘(lﬁlfiﬁﬁ) | -
[ - \6\}9 L “1 ] S
- 1] — - — — —— J— - - LA R
i A S < L
| RS S ; 4\ 3 N 7J‘r
o e e o 1
&l e i ‘
I vl 2-M5X0.8P [ I 3 A
N e N N +®H
L B Piping port u o g ‘
‘ (HHSTL)
}14; ‘ Closed(i#]) N ‘ ﬁj 4-M8X1.25P 36
' ' Mounting hole claw
21 Opened(FF) M 21 (REEETL) 40
64
Model
&) A B C D L M N
THML25-501 88 70 50 50 192 (142) 146 | 96

TMHL25-100
TMHL25-120 | 160 | 142 | 122 | 122 334 (214) 288 | 168

N

42 1124 | 104 | 104 296 (196) 250 | 150

Weight(E£)
Model(#S) | TMHL16-30 TMHL16-60 TMHL16-80
Weight(E 8 )kg 17 26 2.8

1.208 pTECTE




AR EITHARSEIFIE

General Hand

v
=
=
<<
=
=)
L
=
a

TMHL Series

Dimensions(mm)(%ME R~ BI(ZK))

TMHL32 TMHL32-[1B
Finger Side Clamp Type(JTC 5 1l i 243 2Y)

2-M6X1P dp 4 C - 82 30
M‘(’é”%“ﬁg])m'e 4-M10X1.5P ‘189‘ 322 _249| 15
(Cross 17) ‘ ‘
- Il Il
o
oA 1777@ @ ; Sl
| |
— 385 ATRE
6° dp6 2-M10X1.5P dp 15 B e | A@
[Position hole] Mounting hol = 1 -
T Position Tole‘ O(UI% ggﬁ])o e T ; ; 1]
== 0 14| 42 20
=
e T B 2-RC1/8" 4-M10X1.5P
U T © Piping port Finger mounting hole
R -5 (ST (M A E=EFL)
|
\ &
4-M8X1.25P dp 12
Mounting hole
@26dp 1.5 (B M)
L 82
" D 4-M10X1.5P 32.2
2-PT1/8 (Cross 17)
Piping port g _
(E/TEFF]) | L
[ |1 | 1} | Car Q -
i B e - s I
| | ———‘———;——‘———— | % % —= T 4= 1
= G
I L R — i | NG | s
HilaamilE |
o~ | | o~ o
© | n ® b m}i (D 7@’
| J‘ (S 7) ‘Q
Jsl | Closed(i)) N ‘ ﬁj 4-M10X1.6P
Mounting hole claw
24 Opened(FF) M 24 (KA B ETL) 42
70
Model
@) A B C D L M N
THML32-70 110 | 86 69 69 240 (170) 188 | 118

TMHL32-120C] | 158 | 134 | 117 | 117 338 (218) 286 | 166
TMHL32-1601 | 202 | 178 | 161 | 161 422 (262) 370 | 210

Weight(E =)
Model(®S) | TMHL32-70 TMHL32-120 |  TMHL32-160
Weight(E & )kg 3 403 5.01

$TETE 1209




AR EITHARSEFE

General Hand

TMHL Series

v
=
'_
<
=
=)
wl
=
o

Dimensions(mm)(4MiZ R <

TMHLA40 TMHL40-[1B
Finger Side Clamp Type(JTC 5 il e 8Y)

2-M10X1.5P 246 36.8 30.6 15
@ ‘ (Cross 17)

2-M10X1.5P dp 12 o}

Mounting hole %) ‘ }
(B E M) =1 1 - _
: ! @©-4|

@,
Y

50
77

O ——

| |
° / f
| Ao @y
| |
A o i N
. L= —= |
e 19| 48 25
6% 8 2-M12X1.75P dp 15
[Positon hole M°“,Erl‘g§ hole 2-Rc 1/8" 2-M12X1.75P
N Piping port  (Cross 19)
T (EHSA) 4 m12x1.75P

\ /] — i Finger mounting hole
U 41— @ (A EZEFL)
Y B —B-

4-M10X1.5P dp 20

@6 9% dp 8 Mounting hole
E
Position hole (B2 )
(EALTL) @40 dp 2.5
L 98
2-PTH/8" D 2-M10X1.5P 2-M12X1.75P
Piping port © (Cross 17 L (Cross 19)
(=7 v\‘
[ 11 \ 1 ﬂ | 7 e} ©
J S WD R _ J~) W I . A A :
i A | s
| \—777777; 77777 I | 4 I3 =
|
N i ‘ B e . e Rj
= i 8

38
F““A

ﬁj 4-M12X1.75P 48

Mounting hole claw

Closed(Hl) N

28 Opened(FF) M 28 (MEEZETL) 60
86
Model
B 2) A B C D L M N
THML25-500 148 | 116 | 80 | 80 324 (224) 264 | 164

TMHL25-1001 | 206 | 174 | 138 | 138 442 (282) 382 | 222
TMHL25-120[] | 246 | 214 | 178 | 178 522 (322) 462 | 262

Weight(E£)
Model(®S) | TMHL40-100 | TMHL40-160 | TMHL40-200
Weight(E & )kg 53 6.9 8

1.210 pTECITE




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8

